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Both responses must be correct for the
‘award of the mark.

Accept 5.x 7 in the botiom box
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13 aGes 1 Do not accept four sets circled without a
correct answer in the answer box.
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14 (shoes)
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54 (crayons)
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35 (pencils)
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Do not accept the correct number of
pencils indicated, unless the answer 35
s also seen.




image12.png
‘The fourth black bead ticked as shown, &.g.
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Accept any other clear way of indicating
the correct answer, e.g. circling the fourth
black bead, ticking above the fourth black
bead etc

Do not award the mark if more than one
bead has been indicated, unless it s clear

that the fourth black bead is the pupil's
final choice.
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Al three correct dice must be indicated for
the award of the mark.

Accept any other clear way of indicating
the correct answer, e.0. ticking the three
correct dice.

Do not award the mark if more than three
dice are circled, unless it is clear that the
correct dice are the pupll's final choice.
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Both 3 AND 6 given, in any order.

m

Both numbers must be given for the award
of the mark.

(Refer to general marking principle 4
on page 6)
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9 (pencils)

1m

Do not accept nine pencils drawn without
an answer of 9 also written.
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15 Matches Sean, Bethan and 1 The arrowheads do not need to be
drawn.

If extra lines are drawn, do not award

oS the mark unless it is clear that the
= = correct three lines are the child's final
= \ choice.

=
> L Accept any other clear way of

indicating the correct set for each
name, eg writing the name in each set.
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Practice 15 (birds) none
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34 (pencis)
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Tickby6+2+8=16

Accept any other clear way of indicating
the correct response.

Do not award the mark if more than one
adition s ticked unless it s clear that the.
correct one s the child's final choice.
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Accept any other clear way of indicating
tho correct parson, eg tiking.
1 the chid indcates more than cne

person do not avard the mark unless
thatr il ntention s clar




